HEZREE EMBETESIREL OO

HELR . e A J& 5 9.
BNk K

—. FSip—p
1. 2.36X1.7 MR ( )L NEL, DR — LN HUE ( )3

0.1-0. 11 7 HIEA /N <2 ( MRt E R VA ) o
2. WILAEEDE T LT a TR, T 7.8 ju, AR 100 T

oz #% (7] ( ) TG

3. WA KRR =M ABC /1, A S (3, 5) , A4 B ATIIEON A2 ( ),

=}

A
[}

C HEHIE A ( ), BATTREIIAE Lem, XA = AT TR ( ) em’s
4. B50 1. 25+ a=b, B4 80ab A2 ( ) o
5. — MR T HRIBEFRFE RN 2 4, HE 3 4, BB 5 4, WHEEHLE—1,
L ( YR EE M RO, BEH ( ) AT BE M oK.
6. SEIG/ANZET “3D FTEI” —He kAR, W R —NIKM T EM L 22g, A 250g #H K, &%
CIRVEIREIN ) N IK AR o
=, FlerAuE
1 E—IERRVEE T, EHHEREL (0 BRAb) AZERF, BRECER, ik, ( )
eLiE
2. 0.25%X99=0. 25X 100-0. 25 ( )
eLiE
3. AN A S5 1 = A TE — E Be R PAT IULTE . ( )
VI
=, BATH&E
L—ﬁ¢ﬁ%%ﬁﬁL[ﬁx&&[ﬁ%#%ﬁ?w%ﬁT,ﬁﬁﬁﬁ%%%ﬂ%%
( ).

A. 7.526 B. 0.996 C. 11.176 D.7.562

2. N ( ) Ui A IR .

A EA R FNE AT O R B.a? —E KT a.

C. 5 4+x=0.2 MIfRZ 20, D. i 7 FE 5 7 RE W fd = AR TA] &
3. G I AN KR BIVE B, ik A5 H i b 2 A 2 BR AR #, 258 22 61. 2 KA
JEERY BAT e (W ARFT) , 353477 50 4, BN A TE] BB B & ( ) o

A 1.5 K B. 1.2k C. 1.3k D. 1.6 K
W, RiEmsl
1. A&,
0.24X0. b= 4.8-+-0.04= 6. 87-1.87X0= 0.5X0.4-+-0.5X0. 4=

2. B ERUER T
4.4X2.5 21.6+0.8-1.2X5 11.5X3.7-2.5X 3. 7+3.7



3. R AT
2x+1.5x =42 4.8-5x=1.8 8 (x—6.2) = 41.6

Z, BREFEF

DSOS S, RN B

9 FJ 23 H#g, LL“WHEVANIE” N E@AIHIMIEE 19 JE VIS 3 AEHUH BAR ti 44
Y ORE1D) B, matt iR 7 e ae i s ! Ams 280 H WH
40 NRIR . 481 AN, NIRFIANBOR 73 TSR 8 1520 74>, ML 45 S E s Eh il N
Hok 1.2 TiRsd. MEOREER “R3EE” SRR 21. 6 31Uk, 245 F8rE DG e @31
AR 4. 32 1, RIEE “KEFY, ORT “SH7, Bidkia 80800 4. HAME
H1 28 Jr K “SEAEME” L 27 P/ “SEAEME” AL, Wb — R BT R GEAE, TR AN S 14 5 1 29
2.8 30, HEAbRT “S 7 4.2 IR 114 3, (REL T “axta. RET MR
B, KRRWATHANE, B3RA 17 PEEFUTL TR ER R SR G ! MHait
RIPEE S K ) — M A MR R . Rz dm) -

l. /“J ]‘ﬁﬁ"]/‘l‘pi_! I}Lﬁ /\;E/zf //l\ l/j‘ / ? 8
].
35

20
2. HUMEE 19 JmIis 2 5a 3R H 73 i 2 /04T (BT REfRD

30

3. E KAEHE B RR W REET- 7 K 75 2240 36 T 3w i, —HEARE L /DT i

A GEASCTE R TR — N R

BRRRAE S

W BT ZIA, ik b T
RS | L EER LGRS 6.7 75, FHF 11 A
ARX: i~ BT 2 Ak ?
10 b B VAT 2.75 7T/,

A2it 10 vbA2 RAZ 3.9 7 /uk
if 20 wb 6935 ' 2. FF LK, REHLLFEIL?
20 vk A _E a4 3f o 4.5 /%




